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Q1: - The graph below represents f'(x) determine where the function f(x) is
increasing?

a) (—OO, _3)

f(x)
b) (—3,3)

c) (3,)
d) (—OO, OO)

"0 Determnewherethegah ot the SN A B am (2) D5

function f(x) is concave up.
f(x) =x*—6x*+2x+3

a) (_001_1)

b) (—e0,~1) U (1, o)
c) (1,1)

d) (—=,0) U (0,)

' Q3:-Find afunction whose graph hasthe  Abal) Lebial (16 (30 Aal) a2 g) (3) Jged
given asymptotes. Gl Ja glad
y=-3,y=3,x=-2,x=2

3x

a) f(x) - J(x=2)(x+2)
_ (x%-9)
b) f(x) = Jx=2)(x+2)
3x
o f(x) = —2)(x12)

d) fx) = —2=2

(x=2)(x+2)
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Q4: - Determine the graph of the function Al Akl Sl daa (4) JIsead)

2
f&x) =

x2 —4

b)

Q5: - Suppose f is a polynomial function such Euay dgagas A3 £ il (5) J)guad)
that

f@=0,f@2)=-5

a) f(2)islocal maximum.
b) f(2) is local minimum

c) f(2)is absolute maximum.

d) f(2)isabsoluteminimum.

Q6: -Find the x — coordinate of the local Aladll elasll dedll x Sldilas) aa ) (6) Jigesd)
maximum of
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d) 2

Q7: -find all critical numbers of Jaaall dlae V) JS aa ) (7) J )
fx)=x3—-3x*-9x+1

a) x=-3,x=0
b)x=-9,x=1
Jdx=-1,x=1
dx=-1,x=3

Q8: -Find the intervals where the function Alall L 0585 Al Gl 3l as ) (8)J1 gl
g(x) is increasing 3ul e g(x)

15,3,
g(x)=§x +Ex —70x+5,

a) (—o,—10) U (7, )

b) (—o0,—7) U (10, )
c) (—0,10)

d) (=10,7)

Q9: -Find the intervals where the f(x) Al L 0S5 Al @l 58l a5l (10)J) sl
function f(x) isincreasing 3 yia
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a) (—o,-2) U (0,2)
b) (—2,0) U (2, )

C) (—OO, _2) U (2' OO)

d) (—2,0) U (0,2)

Q10: -Find the absolute extrema of the e Alall dlladl) (5 guadll aill 2a 5l (10) JVigmsd)
function on the given interval sUaxall 3yl
f(x)=x3-12x+10,[0,3]

a) f(0)=10,7(3) = 1

b) £(0) = 10,£(2) = —6

0 f(2)=—6,f(3) =1

d) £(0) = 10,£(2) = —6,f(3) = 1

Q11: - If the graph of y = ax3 — 6x? + bx + 13 has a point of inflection at (2, —1).
What is the value of @ and b ?

Q12: - Draw a graph of f(x) showing all AN Gl ) (12) Vg
significant features.

f(x) =x*—4x3+10

‘ Domain
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y-intercepts
x-intercepts

(if you can)

Vertical asymptotes
Horizontal asymptotes

Critical numbers,
Increasing,
decreasing.
extrema

Concavity
Inflection points

End of the test Y gl
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